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10.

(a) Write the following four numbers in ascending order: 0.463, 4.52% of 10, 22/50, 4/10

(b) Suppose the symbol + means subtraction, - means addition, x means division, and + means
multiplication, then find the value of 130+(10+5)x4—(2%2)

Find the LCM of all the numbers between 30 and 70 with a GCF of 16.

A purse has an equal number of 50-paise, 1-rupee, 2-rupee and 5-rupee coins. If the total amount
of money in the purse is 195 rupees and 50 paise, then find the number of coins for each type.
The length of a rectangular field is four times its width. Suppose its length is reduced to 3/4" of
its original length, and the width is doubled. Then by what percentage is the area going to increase
or decrease?

How many different numbers can be formed using the digits 3, 0 and 5 only once? That means
we cannot use numbers like 33 and 355.

Suppose 4 eggs, 3 bananas and 2 cups of milk give approximately the same amount of energy. A
wrestler eats 12 eggs, 9 bananas and 10 cups of milk daily. Suppose one day he ate 8 eggs and 6
bananas. How much milk must he drink to get his daily energy requirement?
Two wheels with teeth are put together so that if you rotate A
one the other turns as well. The two wheels have - V
circumferences of 36 cm and 14 cm, respectively. The two oaawI- 9 6a. . ! .

£ eyead 2

teeth in contact are marked in black. After how many S

rotations of the bigger wheel will the two black teeth meet

again?

Jadu wants to dress differently before going to his office. He has three different shirts, two
different pants and two different pairs of shoes. For how many days can Jadu dress himself
differently without repeating himself?

A and B are two distinct prime numbers such that three times A and five times B add up to 124.

Find the value of B.

Two squares overlap in the given figure. Three-fourth of the smaller square

and six-seventh of the bigger square are shaded (marked with lines). How

many times bigger is the shaded area of the larger square than the shaded

area of the smaller square?
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